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12.A firm can increase customer value by increasing (A) customer sacrifice
(B) post-product cost (C) customer realization (D) pufchasing cost
13.In the theory of constraints, the drummer 1s (A) the major binding constraint
(B) an action that ties the rate at which material is released into the plant to the

production rate of the constrained resource (C) the inventory required to
protect throughput of the organization from disruption (D) none of the
above

14.Unlike tangible products, services have the characteristic of perishability. This
means that services (A) may lose their value over time (B) may lose
their value due to improper conservation (C) cannot be stored for future use

(D) none of the above

15.0ne advantage of employee émpowerment 1S (A) it free up some of the time of




upper management for more strategic decision making (B) workers can
improve production processes in a timely manner (C) employees closest to the
work can provide valuable input in increasing efficiency (D) all of the above
are  advantages
16.The activity-based approach to break-even costing emphasizes (A) fixed
and variable cost behavior (B) units and non-unit cost behavior (C)
product and period cost behavior (D) value chain cost behavior
17.When variable costing is used, all of the following are considered product costs
except (A) direct labor (B) fixed overhead (C) variable
overhead (D) direct materials '
Mrs. Brown’s Bagel Company manufactures specialty bagels. The company buys
flour in 50-pound bags that cost $25 each. The company uses 10,000 bags per year,
and usage occurs evenly throughout the year. The average cost to carry a 50-pound
bag in inventory per year is $4, and the cost to place an order is $10. The company

works 250 days per year.
Refer to the above data. Answer questions 18-20.

18.Brown’s economic order quantity (EOQ) 1s (A) 354 bags (B) 447
bags (C) 224 bags (D) 100 bags

19.If Brown’s lead time is three working days and the average rate of usage is 40 bags
per day, the reorder point would be (A) 140 bags (B) 120 bags
(C) 100 bags (D) 80 bags

20.If Brown’s lead time is four working days, the average rate of usage is 40 bags per
day, and the company carries a safety stock of 20 bags, the reorder point would be
(A) 180 bags (B) 140 bags (C) 160 bags (D) 100 bags
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3.At the beginning of 2008, George Company initiated a quality improvement
program. The program was successful in reducing scrap and rework costs. To help
assess the impact of the quality improvement program, the following data was

collected for the current and preceding year:

2007 - 2008
Sales $10,000,000 $10,000,000
Scrap 400,000 300,000
Rework 600,000 400,000
Product inspection 100,000 125,000
Product warranty 800,000 600,000
Quality training - 40,000 80,000
Materials inspection 60,000 40,000

(1).Compute quality cost as a percentage of sales for each of the two years. By how

much has profit increased because of quality improvements ? Assuming that

quality costs can be reduced to 2.5% of sales, how much additional profit is
available through quality improvements.
(2).Prepare a quality cost report for 2008.
4.Craig Corporation produces two types of products, A and B. Product A has a unt
contribution margin of $200, and Product B has a unit contribution margin of $400.
Product A uses 2 hours of grinding time, and Product B uses 5 hours of grinding
time. There are 200 hours of grinding time available per week. This is the only
constrained resource.

Instructions:
(1) a. Determine the optimal mix. b. What is the total contribution margin ?

(2) Assume that market conditions will allow the sale of only 80 units of each

product. |
a. Determine the optimal mix. b. What is the total contribution margin ?

5.The following data pertains to Bearing Company :

2007 2008
Unit selling price $10 $10
Output produced and sold 5,000 6,000
Materials used (lbs.) 4,000 4,200
Unit price of materials $3 $4
Labor used (hrs.) 2,500 2,400

Unit price of labor $8 $8




Power (kilowatt hours) 1,000 1,500
Price per kilowatt hour $2 $3
Required :

(1) Compute the partial operational measures for each input for 2007 and 2008.
(2) Calculate the profit-linked productivity measure for 2008.

(3) Calculate the price-recovery component.




